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Topic:- Child Development & Pedagogy (CDP)

1) According to John Dewey, must be experienced by the children in school to make them better citizens. / EIEELikd SIYR, =l B
YgR ARG 991 & fore femea & BT FHT HRIAT ST AR
1. Rules / Fog

2. Discipline / 3{IRIMET
3. Experimental awareness / U SRedar
4. Democracy / NIGE]

Correct Answer :-

« Democracy / NIGE]

2) Find the correct sequence of stages of child development. | o &Y rawTail &1 Tg HH [ ifﬂﬁml
1. Infancy, Childhood, Adolescence, Adulthood /ﬁ?aamw, STeUTaR]T, mﬁ?‘lﬁ?ﬂ, Eﬁa?ﬂ

2. Adulthood, Adolescence, Childhood, Infancy /E?f@'aT, ﬁﬂﬁﬂa@ﬂ, STTIRT, RIRIATIRIT

3. Infancy, Adolescence, Childhood, Adulthood [RAATERT R ﬁﬂﬁ?ﬁ?ﬂ, STTIRT, Cﬁ?{(ﬂ

4. Childhood, Adolescence, Infancy, Adulthood /dTedTIRYT, mﬂa@ﬂ, QWH, Eﬁa?ﬂ

Correct Answer :-

« Infancy, Childhood, Adolescence, Adulthood /RIRTATART, STCTARIT, fHTRIERT, Mg

3) is major environmental risk factor for poor child development / T T & AT & ﬁl'({' uqe IATERVIT AT FRS %I
1. Diarrhea / STARAT

2. HIV / TI3fTsdl

3. Chickenpox / EEC

4. Diabetes Mellitus /Ifﬂfl—s'

Correct Answer :-

. HIV/ TI3MEa!

4) Curative measures of juvenile delinquents are ____ ./ PR srRTeht & SUERTHS Ut gl
1. maintaining strict discipline / FER SR &A1Y XM

2. rehabilitation and correction programmes / W 3R JUR CapEae

3. isolated treatments / YD IUAR

4. rigorous punishments / FOR &S

Correct Answer :-

» rehabilitation and correction programmes / W 3R JUR CapEe

5) Which theory encourages private speech, and self-regulation? / PE-TT Rrgia fAeft yreor 3R - #Y ';hT\‘TI'%?I' Dl %?


Lenovo
Stamp

Lenovo
Stamp


1. Jerome Bruner / SRIY EQN

2. Jean Piaget / EiEAELIE

3. Hattie / %T:pf

4. Lev Vygotsky / g m&"ﬁfﬁ

Correct Answer :-

« Lev Vygotsky / GEEIEUIRSE

6) Which of the following is not an aspect of emotional intelligence? / fFrafafaa & @ $19 YaAee g@'ﬁﬁﬂ DI TD Wqﬁ%"
1. Expression / sifreafad

2. Assessment / FcTh

3. Change / fRad

4. Regulation / faf =

Correct Answer :-

« Change / gRad

7) The order in which language is acquired is: / ag P foraw HTaT Sifofa Ft ot 8:
1. Speaking, Hearing, Reading, Writing / Y-, 4dUJ, USH, SECR]

2. Hearing, Speaking, Writing, Reading / #dUI, Y-, TG, T

3. Writing, Reading, Hearing, Speaking / TG, TS, YaUT, HUH

4. Hearing, Speaking, Reading, Writing / #dUl, Y-, UdH, [NEGE

Correct Answer :-

« Hearing, Speaking, Reading, Writing / #dUl, Y, UdH, NEGEH

8) The type of education wherein students of disadvantaged groups are taught along with the normal students is called: / ATHT=T BE & T1Y-

1Y dfrd TEl & ST 1 & 9 arelt e &1 USR A wearars:
1. Inclusive Education / GHTRIT e

2. Exclusive Education / 3= TRI&T

3. Special Education / Ta=Iw e

4. Integrated Education / Ueb Il TRI&T

Correct Answer :-

« Inclusive Education / THTIRT fRrem

9) The state of being left out of the mainstream system of services is called
/AN B G YU FAER /AP AGRTPH BT waT 8l
1. Inclusion / 3R

2. Universalization / ST BT

3. Existentialism / 3{RIQdlg

4. Marginalization / arsffeor

Correct Answer :-

» Marginalization / areffeyor



10) A sculptor needs intelligence to be successful. / Th Hﬁhﬂ? Coak:Laq) @ﬁ g ﬁ'ﬁ[ - Tg'@ D AP T 'tﬁ?ﬁ % |
1. Musical / E7fid (nlﬁrﬂb_c‘l)

2. Spatial / LIS (@m

3. Interpersonal / TRWR® (_{m'_ﬁ‘])

4. Linguistic / TS el mm

Correct Answer :-

« Spatial / R (@m

11) What skills involve the small muscles of the body and hand-eye co-ordination? /

P8 DI A IRR SR FTY-3HTE TH-T F1 DI Wit afRfe gt 82
1. Fine motor skills / SpY TR BRI

2. Fine movement skills / 3HE T ST

3. Gross motor skills / G&d HIC HIRTA

4. Body-kinesthetic skills / IRIRG- fagadt §@

Correct Answer :-

« Fine motor skills / Sch ¥ e ﬁ‘\’lﬁ

12) What is the first sounds of meaningless speech that a baby makes called? / 39 3{@? HTYOT B ue?ﬁ waf~ o) | Wﬁ %m CEIE G

L

1. Babbling / §8d8lgC

2. Telegraphic speech / Tolithd HTSoT
3. Crying / AT

4. Syntax / I — o=

Correct Answer :-

« Babbling / 9S§SIgC

13) What principle is being used when a negative stimulus is removed from the environment in order to ensure that a behavior persists? / fra

g@ammmmmm%wmﬁﬁnﬁwmﬁmmé;Wﬁﬁf@awﬁ%ﬁqﬁ?aﬁémﬂw

1. Positive punishment / HP[HD qUS

2. Positive reinforcement / HHIHDP ‘ﬂ:[a‘?l:f
3. Negative punishment / THhRIHD qUS

4. Negative reinforcement / THRIHD Q:IW

Correct Answer :-

« Negative reinforcement / THRIHD Eﬁa‘ﬂq

14) What was the neutral stimulus in Ivan Pavlov’s famous experiment on classical conditioning? | R X ECLE] (W'Iﬁlw ﬁﬂ'ﬂﬁ"l) w
A UIdad & URIs TR § dew WRN (}gd S hgas) J1 42

1. Salivation / ATATHUT
2. Food / HISH
3. Bell / €<t

4. Dog / Il



Correct Answer :-

« Bell /gl

15) In reasoning the association begins with a problem and ends with a ./ a® ﬁ, E@ﬁl‘!‘«‘ﬁ Th gHA™T J = ﬁ?ﬂ % MR Th *
Y AT BT 3|

1. Dream / &1

2. Problem / gHHT
3. Solution / JHTYUTT
4. Image / Bfa

Correct Answer :-

« Solution / FHIYTT

16) In relation to the development of intelligence, the results of twin studies indicate that: / @ F fapr & ddy H, Sgdr 3f g & TROTH
s a=a g i

1. Both genetic and environmental factors are important./ W&W 3R Frararvfi G FRS W%I

2. Neither genetic nor environmental factors are important./ - a Sﬂ_j_ﬁm 3‘ﬁ? i EPT FITeRUNY HRB IIB@'Q;UT % |

3. Environmental factors are more important than genetic factors./ 311—:13% BRI BT LRI B CIGIERUIR A R DR UE’HE[UT%I

4. Genetic factors are more important than environmental factors. / JIATRUNI BRI B KL | HTﬂaﬁTEb_ PRS HADH W%l

Correct Answer :-

+ Both genetic and environmental factors are important./ \’rl'l_j]ﬁT&W)_ 3R IR0 G BRP u%atgﬂf &l

17) How has Pavlov’s theory on classical conditioning influenced the research on behavior management in schools today? / AT

(FARIEA HSIRT) U Uraeta & Rigia 3 adar § fameal § sraeR ddus R SRy &1 5w yer yutlya fear g2

1. Teachers remain composed, keep things in perspective and get back to the main task of teaching. / TR1&fch a1 HRdl %, Tion &1 gafd uRvied o T@d
& SR Rreror & Yo7 SR IR a0 31T B

2. Teachers notice every little thing going on in the classroom. / e/ o HeTH BIE &R @2‘1-&3‘1 Al O &M &1 EliEy
3. Teachers have clear lesson goals and make proper use of group work./ 18/t & U WY UTe 96 g % 3R qHe Hd &1 ST T FRA %I

4. Teachers make children aware of what good behavior is and provide rewards for this. Teachers also use punishments to discourage negative behavior. /

181 gRT =] BT STRES BT AR [ 33T TIBR T § 3R 39 o UIeTg 1 ARt | R gRT THRIHS AIER P! galened B
¥ fou &3 off ST anfRuy

Correct Answer :-

« Teachers make children aware of what good behavior is and provide rewards for this. Teachers also use punishments to discourage negative behavior. /

181 gRT I} B STRED BT IR [ 3BT TIBR T § 3R 3P fog WA 1 AT | RIefh gRT TH RIS AIER P! gdlced H
% fog & ot T afRu

18) Children typically feel emotions related to fear when they have: / T AR R BT A Taftra ura-rai &1 Hegd P %\_ﬂa 3T A
Frar 8:

1. Bi-polar disorder / a'lg-thw %ﬂ\’fﬁ%?

2. ADHD / TSITT S

3. Autism / 3{ffeoH

4. Anxiety disorder / foidT (TeTgeY) fETaiiex

Correct Answer :-

« Anxiety disorder / f2idT (USTISE NEREIRR



19) Childhood becomes a central factor for the behavior as adults, according to approach. / EfQHﬁ'UT & SR, YD B
FU A AR P I T9U7 TP HE1Y PR 99 a1 g

1. Sociocultural / JHIS m
2. Humanistic / HHgdrare

3. Psychoanalytic / EElEEG N

4. Behavioral / aTIaBTR’EF

Correct Answer :-

« Psychoanalytic / EEICEGE]

20) Some children are able to process more when information is presented visually. This refers to their PO = it ufpar wea o

FA TN ¢ ol TR eRA U A TG PI WA 21 T ITh___ P HeRid pear g
1. Preferences / WAt

2. Ideas / faaR}

3. Interests / STl

4. Learning styles / 3 iferat

Correct Answer :-

+ Learning styles / 3If0RTH Qe

21) Who is the central focus for an individual to get guidance in school? / fa=ITe™ T ARTeRIA e $vA & forg fandt safaa &t qe e (‘\ﬁg?r
HIed) 59 R g afed?

1. Friends/ QR

2. Parents/ ATCI-fOaT
3. Neighbors/ Usﬁrzﬂ
4. Oneself / WY

Correct Answer :-

« Oneself/ WY

22) Who proposed the Bobo doll experiment? / EIC]] 'ﬂ%'q'[ T fram wRarfad o ur?

1. Bandura / E\I"UCSRT
2. Erikson / Qﬁ'fﬁf:f
3. Pavlov / UTG@

4. Vygotsky / EIEUIRSE]

Correct Answer :-

« Bandura/ ﬁﬂgﬂ

23) Who believed that teachers should teach by appealing to students’ natural instincts to investigate & create? / PIF HIHaT AT f el grRT

BE B MY 3R 71 H ydivr F3 & o 3991 wrepfae wgfy Sy nfge?
1. Jean Piaget/ ST fOTo!

2. Jean Lave/ Si9 @1d

3. John Flarell/ S Xd

4. John Dewey/ S T{st

Correct Answer :-



« John Dewey/ Sl 53'

24) In Maslow’s Hierarchy of Needs the top level need is known as: / AT & STaRIHdT USTIHH H, N Sraw1 Ft smazgmdr i
= = o ST ST 8

1. Efficiency needs / q&dl 3TdRThdl (gﬁiﬁlﬁ?ﬁ:ﬁﬁ)

2. Growth needs / fa&T™ 3fTa=addr (MY Tgd)

3. Important needs /u’a'aqu ARG h dl @mﬁaa‘l@ﬂ)

4. Deficiency needs / 1 3TaRashal (SRl fgw)

Correct Answer :-

. Growth needs / [AHMT TaRTS®T (MY -11€9)

25) How do parents assist in gender stereotyping? / 1:l'l?iT-ﬁ'clT, mmﬁﬁmmﬁ%

1. Childhood peer groups are segregated along gender lines. / S & areft H*j\sfa'ffﬁﬁ NIESS] %%wa J WWW%I

2. Schools emphasize different academic subjects for male and female students. / ¥b T, oY ﬁﬂ%ﬁm%mﬁf\lﬁ%&mmwwaﬁél
3. Parents place their children in gender-specific schools. /IHT‘IT—ﬁT‘IT maﬁﬁﬁn%&mwﬁﬁwﬁ%

4. Parents force children to follow traditional gender roles. /wﬁmaﬁﬁaﬁmuﬁm%ﬂ Hﬁ?ﬁ‘hﬁ aaﬂwaﬂ%rﬁﬁ%nmwaﬂﬁ%l

Correct Answer :-

« Parents force children to follow traditional gender roles. /WWW@W%‘T Hﬁﬁ@faﬂ mﬁ%ﬁmwﬁ%l

26) Who proposed the concept of a language acquisition device, found universally in all children? / T 9= ¥ Qe ¥u & urdt W= arelt
yTaT 3ol Uil (AR ufdforRm fearge) @ saeron frm wRga @2

1. Jean Piaget / S oot

2. B.F. Skinner / Eﬁwm

3. E.L. Thorndike / 3. U@, UiHSIS®
4. Noam Chomsky / T st

Correct Answer :-

« Noam Chomsky / A TR

27) What is the term used to describe the gradual stopping of the relationship between a conditioned stimulus and a conditioned response? / Gﬂaﬁﬁ Gﬁm MR

SJEfa srgferar & S Wy F RIS s8a P19 A & T 69 <reg BT ST far Srar 82
1. Reinforcement schedule /‘fﬁk’ﬂ &W

2. Punishment / §&
3. Shaping / FUUIRITT)
4. Extinction / fa@a

Correct Answer :-

« Extinction / g

28) The most important characteristic in differentiating a child with a special need is: / Wﬁ'&ﬁ'ﬂ STILHAT AT T BT SET SR arelt gad

1. Face problem in completing his homework/ﬁ@ &W%W(W) wmﬁwwwm Usd %I
2. Has abilities different from an average child /ﬁmﬁ &HAT Waaﬁ@{ﬁ-ﬁéﬁ?ﬁ%l
3. Has poor relationships with peers /WW%WUWWH%I



4. Does not perform well in academics / st ¥ 33T TSz Te Har gl

Correct Answer :-

« Has abilities different from an average child /W &HdT eﬁwaa‘r@rﬁm@?ﬁ%l

29) The rules of presenting the contents to make them easy are called:

1 TR Y ST A & T g A & P Y et A 8:
1. Method of teaching / Rigror 1 fafdy

2. Teaching strategies / fRreror Yoo

3. Maxims of teaching / fRigror %ﬁ?

4. Techniques of teaching / 21807 Bt aBd

Correct Answer :-

+ Maxims of teaching / fRegor %ﬁ?

30) The term cerebral Palsy was introduced and popularized by

1. Gardner / Tﬂé:ﬁ

2. Piaget / foarst

3. Dr. William John Little / ST. faferaq 9 fofea
4. Sir William Osler / TR faferad sfieR

Correct Answer :-

« Sir William Osler / TR faferas siger

Topic:- General Hindi (L1GH)

1) & WA TS,

g,

% U Big R,

1T |, /T |, /T A4,

3Ry ifdray ey

T ¥ P,

T Y Fl,

CEE:SLL L

R WYY, TR WYY, T Y,

3Ry ifray ey

T AFH TS,

Iq AT €,

31y WG ¥ |,

TYTY TYTY TYYY,

3Ry ifray ey

IUed Ui B UG A1 TR Y YA BT IR I3
W=: U U ©ig W AT aar 50 Ui a1 o= . 82
1. AP 6T

2. AT IR BT T0d B

3. 9@ § o T e ) IR |



4, &4 o Uy WeR T8} S T

Correct Answer :-

. foreht &t U=t iR e e AR
2) QW AT,

S,

T B o,

AT A, 117 74, 1417 A,

3Ry sy ey

T yemH,

CEECUIEX!

gAgemHd,

R AAY, P Y, B ATY,

3Ry sy sy

g HEH T T,

I EIATA R,

Y WA 4,

TUTY TYTY TYTY,

sy arffay arfiay

UG T Y TP R TR Y U BT IR IS¢
U: Hfd TR-TR T Tl HEAT 3, B Y, F AYY, HI YL
1. Yheas o1 & fag

2. TH AP T

3. 98 P A qA qP

4. dTfb 3MEH R 7 ST

Correct Answer :-

. Uheuag gH & forg

B YUY, P YUY, P MUY,

3Ry sy sy

T A T ¢,

T EIATA R,

Y WA 4,

AYUY FYUY AYTY,

sy ey affay

SUEEH T Y TGP R I Y WA BT IR Iy

U RTFd g4 SR R arat afds 1 e w13 i w=gi A qg1 w32



1. IWgaa auft
2. Had g A
3. Had PR UY
4. HIA AUTY

Correct Answer :-

- Iuge Wit

B YUY, P YUY, P RUY,

3Ry sy sy

g HEH T T,

T FT AT R,

Y WA 4,

TYYY AYTY TYTY,

SRray Sif¥ray 3ifiay |

I UL P Ugh? 1 TR T YR HT Sk Iarsu|
U 59 Hiadn # TR-IR W eg <ifay | g?
1.9

2. Ul

3.9

4, IAPR

Correct Answer :-

T MUY, HI UY, F T,
3oy gy sif¥ray|

TG A T ¢,

I EIATA R,

Y WA 4,

YUY TYYY YT,



3oy srfiray gy

UL T Y TGP A I Y WA BT IR TagT
URH: 39 il BT YAUTT FT 8?2

1. Iudad guft Hig

2. PTG [P FETIRA M T ITH, AgS

3. $9q T8 [ Hiea aR & ft aafaa s @

4. Had g} % afe G- I T 9 & 918 Wi 25 3@

Correct Answer :-

. Iuge Wt Wg

T AGY, P Y, B ATY,
3y sy ey

T HTH AT,

ERRHEE S

31y TG ¥ b,

TYTY AT TYTY,

3Ry sy ey

IUT U P UG A IR T U BT Sk garsu|

T 3t HivTE & U & g offh $t o' 9g @ TgW P sfa A R PR B2
1. B XGY, FX AGY

2. @A yHm e

3. QAWM

4, A o Hf

Correct Answer :-

o T YR BT

PR YUY, B YUY, D TY,
3oy aifiay gy
T HEH TR,



A ETAJAE,

31y TG ¥ b,

AYTY AYUY YUY,

3y sy ey

I YR P UGHR 19 TR T U BT Il I5T

T 3t AT FY 3R Tga1 §U AT B 313 A fw Hiv @ ayny e
1. Iudad gaft

2. Had 31y

3. Had &

4. HIq WG

Correct Answer :-

- Jugad quft

B YUY, P YUY, P RUY,

3Ry sy sy

TG U TR,

TAF/IATAE,

Y W T |,

AYTY AYTY YUY,

3Ry sy ey

SULE T Y TEH A I Y U BT IR Iagq
W=A: Sfia A oa Bfe= wwy omar 8 @it frwaast when gt @2
1. FTH A B T

2. forsit ot 7Y

3. forsit Uy 6t

4, fordht afdaq ot

Correct Answer :-

. Tt cafeky ot



T YUY, B XY, I ATY,
3y sy sy

T HTH T T,

TACIATA S,

Y WG ¥ |,

AYYY TYYY TYGY,

3Ry sy ey

I Ui P U A1 T T U BT Sk gaTgu |

U= SfRT oId ofigq & B8 IR I ToR Y S TT BT A1MgY?

1. BT aT AT IR

2. IR &1 ke RR g a=n anfguy

3. {5t § g Bt ER g 1 A1fRT 3R ST I W ggdl eI A1fgu|
4. TGGTRI P STefidl BT 1T

Correct Answer :-

. fodt @ Heg 31 ER e HRA AfRT IR 3R IR WR Fed T ARt
10) J& & WA TS,

e TS,

P U7 BiE

|1 |4, /T A4, AT A,

sy arfiray arfiay

A YPmHA,

A YA B,

FAgem M,

F YUY, B Y, F AU,

SRy iffay sif¥ray

T HTH T,

IAEIATA R,

319 W ¥ 9,

TYYY AYTY TYTY,

3Ry sy sy

ITe UL Y UGB T IS T U BT SR I3
w=: Tt wrgsn Y 7 i S 3ot wifre 9o ugar At 82
1. 98 AN B Hag

2. TG TORIH

3. fordlt o wgrIan

4. ST WY

Correct Answer :-

. TG SIS

11) 34§ WA TS,
S,

TP U oie i,

| |4, /1T A4, AT A,
SRray gy 3ifiay |



A YSMH,

Ay B,

FAgEm M,

F YUY, F Y, F AYY,

oy sy sy

T HTH TS,

IA AT R,

319 W X 9,

TYYY AYTY TYTY,

Sy iy erfray|

IR Y P Ugh 1 IR T YR HT Sk IaTsu|
TR: F& 7 HA TS, B 09, B 93, A Bl #1 Wdba frw iR B2
1. 9 3R 99 gy

2. Hed & g1 T

.UUad S IS US

4. TfTRITEH IR TS AT

Correct Answer :-

. SIfTRITER SR TS AT

12) QWEH WA TS,

e s,

TP U oie 1,

i |4, /I /4, AT A,

rfiray sifiray ¥y

A yFmH,

A UMW,

JIFEM R,

P YUY, B Y, F G,

SRray Sifray iy

TEHEH TR,

ESEGEE L E A

319 %G T 9,

YUY AYTY TYTY,

sy affray arfiay

IR U $1 UgHR ) D T U BT I&R IS¢
T G AW BN, T G_W P Bl 7 wEar @2
1. 98 S ged1 g1 Tl

2. YRIRA A9 Hig uRiRfaa & T X g
3. TR B T 39 T B

4. 98 YUY AT Bl 1

Correct Answer :-

. UIRIRA AT Sfo- uRkfRufaar § e sxar gl

13) I WA TS,
GAREESS



T T ole 4,

| |4, /T A4, AT A,

sy arffray arffay

FAyFmH,

A UM FW,

A g H,

P YUY, B Y, F G,

sy arffray arfiay

Ig e T €,

I FT AT R,

319 %G T 9,

TYYY AYTY TYTY,

oy sy sy

UG T Y UH A TR Y U BT IR Iy
U= g 7 ¥pm e B A P FETR?
1. BIC-BIC I1AF BT

2. 30 i &1

3. Y&l g faan

4. FTh s

Correct Answer :-

o ITh e A

14) AT WA &,
g g s,

T v B W,

i Ha, /T {4, AT A,
sy sy arffray

T YBm A,

Ty Hl,

FIgSM PR,

P YUY, B Y, F G,
rfiray aifiray aifdray

g HEH T T,

I FT AT R,

3y WG I 9,

TYYY AYTY TYTY,

SRray Sifray 3ifiay |
ITE Ui P Ugh 1 TR Y YR HT Sk IaTsu |

USH: “Ug HETH T © P B Bia 7 by T20 &) He = Har a2

1. STHI B T8l

2. U BT Uy Higs i ST g

3. A Y s AigH TRl §

4. BT I A 30+ HT BT SRR 1 B

Correct Answer :-

« BT F 3TN TRTT BT SFRR e Bl



15) & B WA T3,
gaeas,

7% v B o,

TR 7, W1 5, 6T 774,
3y sy sy
A4S B,

Ay Hl,

FAGSM P,

FR IYY, FR YUY, TR ATY,
3Ry sy ey

@ HEH AT,
EEEGEE L E A

31y TG ¥ b,

AYTY AYUY YUY,
3Ry sy ey

I YRS P UghR 19 TR T U BT I IS5
W B 7 <3 gy s wefies waey waT R @2
1. o ¥ & s et &
2. TH A DI T

3. SflaT & HIETER B

4. AU B TY B

Correct Answer :-

. S F BTGRP

16) T1E 0 T4 €, TA9 Yod 8 | Th A IR B YD giel 8, g8 & W g i | g T81 AT I[elre? §H o1 I18d & - 5 TR T o A2 I1 6 IR R T A2
W A Gt UR ST, 4G A | T, &, Trarar, frarr | war =g, Far e |f & T @Y (et e Bt SIheiRI, $le-Ud, U-uel - $© 9 ge U 39! AF - SqPt
{@mmaﬂﬁﬂguﬂ?m%ﬁ'ﬁm\aﬁ g Iusai, g SusHeil! A S ST ¥R 3, N7 SIS IR 3 - g P 17¢ | TIRT Tee - H wrarit & Rrafear @ wr g
TRR BT RIS AT A ARG Jdl B Bl B | ST 99T ¢, 391 IRl 81 g, T8 F=an aX 91 ST’ WY - A a9 Uy] SR AT | T 32 AT $I 7 1™
TS ! AT AT 99 991 96 39 IRR $ srazasarsit W 7R ghral & avells & ad) 78, 99 S9! Y@ wia-wia 3 w6 A a9 +ft 3 ofd qare w &h
ff| ITPT wyw Whta e, oa WSt HIAFGT 1§ & SO iR g9t § Ta-gpe 7@ N1 el $1 AR, WIex & 98 g 161 gofl, IA$! WA BT I141 e 3
aﬁ%a&gﬁmﬁlﬁm%mmﬁsrﬁmﬁwmmwmwwwmwm,aamm-mﬁmmm,aﬂﬁﬁ%zahﬁa‘aﬁ
3 Bt 78 TS, R W T

A FT HIA-YW W R g3, 79 Ig Ivaiia g Rads safere 98t i o Ye-ymn &) wffren Jem & 39 wghrad frah, afes ag smve-RuR gon, 3w ot arferm 9,
T GRS P TF: T YEpTed garel el fhrol |, gt W IH-90 I a&-ae AHBUN A ATHAH W 9T qIed SHS a9 S0 AU PV BT 3RIY 7P & a8
T T8 g3 | 3T Hied-ay A ITF HA-HR B 119 I3 F ¢ araR a1, ey A 39& geg o Wt gsugdt & & 1 feam ara-ziik & O o1 i - 8, gea
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g @t TaHar 39 , fobg ST et T 8 1F WX fawry i v 311

IUYe TR B TGP A1 TR T U BT I TSy

WRH: TR Bt STaRgehdr A {5 9 31 3wl 11 § S1at TR 22
1. IH

2. HaATH

3. g it

4. TR UT
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. HFRY gt

17) AETA TN T, TS G §1 T & TR A1 g St 2, G | W g g 31 AF 797 A1 e 6 T A6 § - T IR A1 I WA A1 I TR W G A2
S AFG Gt UR ST, W AHR | &, &, roran, frmam | sar @, Fa fUee | & W@ @) s, et o goeiv, $le-ud, uy-uel - $© 9 ge U 39! IF - Suat
YW FT HTHAT TS g W g UST 82 N Susaf, AF Susiai, A Iuswsit A Siia o1 T8 §, TN IS o1 ¥R & - AF & g1 SRy e - wt srarht & Rrafear a el



TRR P ATaTIHdT A AFRIS il B Sl 11 A ST 39T 7, G 3941 3 | fHg, I8 Fam o a1 TR Wi - g a9 Uy SR AT H T Sfax? AT P =G F417
T[EE At UG A 99 97 993U IRR P TaIHarail 1) AFRIG gia B aeeitg & 1 a8t 18, 5Ia 3ueT Y@ Wia-aig 2 @ 4t a9 ft Sust offE 1erme wr &
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I W B 991 qRET | Aot URA & T o9 98 U A1G W U9 ST UG @A) i W 38T ol 38T YT, 99 9P BU-BY H SHH aTd U, W DI ¢ 919 F I
ArSY &) et 7S, it Rt s
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FTHUR AR ARKTSS FT TG SR | U3 Bt aRE STBT Ue R AR THFTR ¥@1 § T8 21 R 371 a5 W 997 @1 3901, 999 A 39F e W fawrg 9t digon 351
g B 3Tagdar 39 8, fbg Suat 3teT T8 & 1 R fasy wia &= 311

I TR B UgHR -9 I T U= HT I a5
U= HTHE 5F Yl R ST o T AHR AT

1. e

2.9

3. 9

449
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18) IETA WM T, TO9 §ud §1 T & TRR &1 G St 8, GO & /I G §1a1T 8 | TE 797 A7 [WTa? §H T 164 § - T5€ IR A1 Il A2 A1 T TRR T I A
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YW BT BT Aol 1 W ge ST 22 A Suenai, iF usen, g Susnaih A w1d o1 R &, I1 SIS 91 ¥R & - g & w1 SarT qare - wd s § Rrafsat a wr e
TRR Bt SMaRaHar A HFRISG JRAN B BEl FIA H ST 96T 8, 91 IRaT 2 1 g, TR Fon W 91 USTa] @Y - A a9 ug] SR AT H T 3R? A $Y WG ST
T@TE At WG A9 79 T 99 I IRR $ Aazasmarsi w® AR gl o wwelig & adt a8, 99 Suet 1@ wia-aia o) W R a9 o S offd Tere w &t
ff| IT®T yyw IWita e, w9 Su@t sifAfHal 1§ «F Saa iR g9t § Ta-gpe 1@ 1 el o aReR, War € 98 9 7181 gofl, SAS! WA BT 94141 eid 3R
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| P HTAI-YW Wl X g3, 79 U§ SHaRId g3l [t FHiIT Y i o Ue-gen &1 witren qe™ ® 39 Wgiraq [Henl, afee a8 i-e-[auiR gam, IuT &t arfer |,
FMA QR P TM: TM: YpTed gHaTe gl fHon |, gt W I0-99 HR G&-as ATHSUN W1 A § 5d dIga SHS a9 38 AU PV BT ARIT RSP & a8
T 8T 3| 37 Hiwd-aY A S AA-HR B 19 3o F oY AR 541, 3eqy A U ged & Mt gugdt &1 & 1 feam ara-siik ¥ U &1 M -9 8, §eg
P HU AR ARKTSS $T T SHUR| U3 B a8 SHBT Ue R AR THFTGR 3@T § 7Y 81 O 1 a5 W a7 @1 gon1, U9 A 39F Ue W fawy 91 giyon 351
g B aravaear 3@ 2, frg Sue! awer 38 ? iF w fasra ura s &t

UL TR P UgHR 2 TR T U= FT IR A5
UH: HIFG S 7T fha= a9man?

1. A

PRIGICE]

3. g9

4, Y A
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19) TF U T &, a9 Yud &1 T A IR B YR gt |, gk | WIHW g i 81 A 987 U1 [A1e? TH FT I184 & - T0 IR AT Jod T2 1 I IR R T A2
SIS WG Gt U ST, 4@ A | &1, g, firaren, Ry w4y @, Fan e A S w0 o) s, g o seei, Ste-ud, ugush - $o 7 ge ue St A - 6
Y BT HIHAT TS A W ge UST 22 g Susiai, Ag Susiah, 7§ Suasi A o 91 3R &, I IS W1 @ § - A5 & g | F9R7 e - wd siarit & Rafewat o a1 81
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T@TE At WG A9 99 91 99 I IRR $ Aaadmarsi R AR gRial o1 axelig & adt a8, 99 Suet 1@ wia-aia 7% W R a9 o S offd Tare w &t
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A FT HTAT-Y W g g3, 79 Ig Saria g fads safere 98t 7% o Ye-ymn &) wfiwr Jem & 39 wghrad fah, afes ag smee-RuR gon, 3wt ot arfer J,
I R I IM: IE: YEpTed garel gl fHRon |, gt IR TH-a9 TR ag-a N A1 R H O 915 IHS a9 S U HY 71 3RY w7 & 9%
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P HWR R AFKTD BT I HUR | U3 F1 G STST Ue 3R AT THHIER 39T # 76 § | R a7 a8 Wd ae? @s1 g, 7199 A 39 U W 3oy # "ivon &5t
1§ A aravaear 3@ 2, frg Sue 3wr 38 @ i w v mra s 9t

IR TR ) UgwT T U T U $T IR TSy
U= Y= 79 H fHTPT UG TITHR HIFG IS ST T8T UT?
1. TIaR BT



2. AR &1

3. HYR BT
4. Rfggi
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o JddR &1

20) ¥ 50 WA ¥, ToTa Yua &1 v & IR B g it B, g X A 9 S ¥ 1 A 9971 91 e g6 1 916 § - I8 IRR A1 I HIFE? U1 IR IR W g T
W A Gt UR ST, 4G AH | T, &, frarar, frarr | war @, Far fiee At & Wl ) ey, gait B raeii, Fle-ud, uxuel - $© 9 ge U 39! AF - SuPt
ARG T PTET 3T N TR ge TST 27 TE ST, T USSR, g STea: T S off T8 &, ST IO o1 %8 & - g & Forg 1 F9T vl - 3} orarl & Rreifewat @ @1 21
TRR BT SMaRAHAT A HFRISG JRA B Bl B & ST 3991 ¢, 591 ¥Rl 81 g, TR F=an @R 91 ST’ @Y - A a9 Ug] SR AT | T 32 AT B 7 THR-T
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ff| IHPT yyw Ifta Fwdr, wa Ut HIAFAT 1§ & S@d iR g9t § Ta-gpe 7§ 1 el B ARSR, WIex & 98 9 161 gofl, IA3! WId BT 9141 oid 3
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St & =g T, At oft |

A FT HTAI-Y W ¥ g3, 79 Tg Iaria g R safere 98t % o Ye-ymn #) wfirer Jem & 39 wghrad fah, afes ag smee-RuR gon, 3w ot arfer 9,
FA G FT TF: TF: YEpTed garel gl fhrul |, gt W IH-99 R d&-ae BN A ATHAH W W dIed SHS 99 S0 AU PV BT 3RIT P & a8
TH 71 g3MTI 3P Wed-aY A ISP T--HR B T4 I8 & fig arar forar, gsegy A SUF gy 31 ot gescergd T & o faam ara-x’dk o Ue &1 = R 8, geu
PTHR R AT BT 98 HUR | U3 F a0 STST Ue 3R AT THHIR 39T # 76 § 1 R & a8 Wd ao? Ts1 g, 7199 A 39 U W oy Y "ivon &6t
AE Y} araadar 39 2, frg U AT W i W R ma A A

IUe TR ) U A1 TR T YA BT I« q@1ST
U= Vg & T o1 o1 o1 7R € 3R IoITe W38 &2
1. S AP 76T

2.7 AR R

3. T AR R

4, 9 SR I
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. Qd AR

21) AU T T, TAE G4 8 | Th A IR #1 gD Sl 8, gk 9 919 o et |8 Se1 a1 A[eia? g9 RTEIEd & - I6 Y8R a1 o A2 1 5 TR R T A2
W A Gt UR ST, 4R A | T, &, Trarar, framan | war e, Fan w2 Al & w61 S T, 9a Shgieeiii, $e-ud, uy-uel - $© 9 ge U 39! AF - SuPt
YW BT HIHAT TS Vg W ge ST 82 75 Susiai, A5 Susish, g Syosi B wid ol 32 €, 973918 S e & - ﬂ'ﬁ&?ﬁmmw Wy Srai § Reafear o w1 )
TRR BT MTRAHAT A ARG Jidl Bl Bl B & STd 9T ¢, 391 TRAT g1 fohg, T Hel IR I YSTh WY - g a9 U] SR AT | FT 3?2 AT B A ST
TS ! AT AT 99 991 96 39 IRR $ Srazasarsit W 7R ghral & avefls & ad) T8, 99 39t Y@ wia-wia 3 w6 A a9 +ft 3 offd qare w &h
ff| ST Uy Wiiia frean, 99 3P SRl A &) SEa 3R ga@! § fia-pe W A1 uet ) RS, TR € 98 T 781 ge, ITB! T BT 911 o 3R
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AT € A TS, =i W TS|

A FT HIAI-Y W R g3, 79 Ig Saria g R safere 98t i o Ye-ymn o) wfirer Jem & 39 wghrad fah, afer ag smeie-RuR gon, 3wt ot arferm 9,
A G P TF: T TpTed garel gl fhrol |, gt W I0-99 R d&-ae AHHUN A ATHAH W 9T qed SHS a9 S0 AU PV BT 3RIY P & a8
T T8 3T | 3T Hied-aey A SUd HA-0R Y 119 I3 F g araR e, ey A 39% geg ot ft gesugdt & & 1 feam ara-ziik & O o1 e - 8, gea
PSR R ARG BT TT HUR | TS B aE IST Ue 3R A THFIGR &1 § 761 1 o1 3 7 W a o et o, a9 7 39% Ue W e 31 givon ot
g @ TaaHar 39 B, fbg ST et T8 8 AF W fawrg wra v 311

IUe TR ) TR A1 TR T IR BT I« q@1ST
URH: g §H W4 &, T[ATT BT gH T Hd 82

1. aa g

2. S B

3. WA g

4. oA
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. AT

22) AT §, 79 Fud §1 T A TR A g R R, G A W T Sheh1 1 A T97 U1 [ § R A6 ¢ - € IR U1 A AR A1 Y€ IR W A A2
SIS AIE Gt UR TN, W A | &1, &1, Rraren, frarem) wam @, 1 e A & W@ ) e, gai S 9PEi, Sie-udT, WUl - $© 7 ge g I 7 - Iut
YW T HTHAT TS g W g UST 8?2 1 Susaf, AF Susiail, A Iuwisil A Sia o1 T8 §, TN I91R &1 ¥R & - A & g1 SRy e - wt srarit & Rrafear a el
IRR P ATTRAHAT 3 WARIS gRral Bt Bl i § ST 3T 7, 391 0T 21 fobg, TR Fal TR 1 UhThs WY - A dh ug] SR W=d & T 3R ? WA $Y AT 11
TS At UG AHE 99 97 99 ST IRR FT raagmarsil i) AR g o aeeits &1 adt 9, sia 3ue) Y@ @ia-aig w7 @ At a9 ft gt offd 1eme o &



&F | IHHT gy T Frean, S9 IS HIAFAT A5 D1 HEd 3R 96! § UHH-Be 61 A1 uYSiT $ RS, W 81 98 W 7ol g3iT, ITH] @I HT 9191 S 3R
I W B 991E qRET | Aot AR & T o9 98 Ui A1g § U9 BT UG @A) 9 W ST o1 38T YT, 99 9P BU-BY H ST aTd U, W DI ! 19 F I
ATSY &) 78t a1, it ft s

T BT HTAI-YW TSI g3 g9, 79 95 Swoarrd gl R sufeng 78t i i@ de-ymn 31 afur Jer # 3 wghraa e, afes 9 sivie-Rvk gon, sw o1 arferm 1,
T GRS P IM: A: YEpTed gHarel g fHRun |, gt IR TH-99 FRA A&-a NN H! A H 9 95 IHS 79 I U B BT 3RIY Hb & 98
T 8T 3| 37 Hied-aYy A IWD HA-HR B 14 33 F oY AR 3541, ey A 39F ged ot ft gugdt & & 1 feam ara-xiik o U &1 M 9 8, geu
P HW MR AT BT T FUR | U3 F} a STST Ue 3R AT THHIGR 3@1 § 76 81 R fa a5 Wl 7w @s1 g, 79 A 379 Ue W 3oy &Y gion &5t
g B STagHar 39 8, fbg SuaT AweT T8 & 1 R fawy e &= 311

IR TR B UgHR -1 I T U= HT I a3l

URH: TP | YR BT T ST 8 SR g A A BT 1 gl 82
1. Sffa 3R g

2. G&IT 3R Tt

3. g% iR e

4. M iR 3/
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. g SR

23) IE U A T, TA9 Yud 1 T A IRR FT YR A &, ﬁiﬁmméﬂ%lﬁgmmgﬁmﬁmmﬁ% & YRR 1 0 992 971 T IR TR 9 A2
SIS WITa Gt U ST, 4@ W | &1, e, fraren, Roran w4y @, wan ey A S w91 e, g o seei, Ste-ud, ug-ush - $o 7 ge ue s A - 6
UG FT HTEAT 3T 11E W ge UST 82 1 Susah, g Susiail, g Iusiail e s w e €, amavn%wq%% ﬁg%ﬁméamw 4 Srart B Rafear A e 8l
TR Bt aRaFHar A AR FRAN B Bl FIA H ST 39T @, 91 IRaT 71 g, TR FEn W 91 ySTa] @Y - A a9 ug) iR T W T 36aR? G B WG SR
AT At UG AT 99 97 99 SU IRR P TaIHarail IR AFRS gial B aveitg & | a8t 18, 5Ie IUPT Y@ Wia-@ig $2 @ 4t a9 ft Suat oifE eme w &
ff| IT®T yyw Wfta P, w9 Suat SifAfal 1§ # e iR gg@t § Ta-ge 7@ 1 el o arReR, Wex & 98 g 1L gofT, P! WId BT 99141 e 3R
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T BT BTAI-YW TSI g¥ §oiT, 99 98 Swoarid gl Rk sufeng 78 % @ de-ymn # afrer gem # 3% wghraa frah, sfes 9 sivg-Rvik gan, 3w 91 arfermn 1,
I GRS P IM: A: YEpied gHarel gl fHRun |, gt IR TH-a9 S A&-ae TSN A1 SR H 514 GG SHS 99 9 U B BT RIT HP & 9%
T 8T 3| 37 Hiwd-aY A ISP HA-HIR B 19 33 F ¢ AR 501, 3ugy A 39 gad &1 it g=ugdl I & 31 fean aa-3iiR § U &1 w9 8, geu
P HUR AR ARKTSS FT T FHUR| U3M B a8 SHBT Ue R AR THFTGR 361 4 61 81 7o {37 a5 W dax T g811, 9179 A 36 Ue W fawrg #1 giyon 351
A Y SrTavaHar 39 8, fbg Sue AT 78 2 5 W e ura A

ITSER TR B} TP A2 IO T U BT S 15T
URH: OF IUD! HIACAT g Bl SEd R gat # TiH-Fe 3 Naram Hdar
1. aRE™

2. 3EEN
3. Ty T

4. T
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. Ty

24) TE A ¢, TS YU &1 TP § TR B YY S &, G & W19 811 ¢ | 1 T97 A1 1 3 o1 9164 § - T TR I1 I W62 91 T8 IRR W o 962
TE AT Yt TR 7T, Y& AHR | &, &, oo, fraran | s @, Far e |7 & Wi o vt 3ail o gegiiRT, $ie-udi, ug-ul - $ 7 ge U 39 Y - Su@t
Y BT BT Aol 1 W ge ST 22 A Suenai, iF usen, 1E Susnai A S1d o1 R &, I11 So1S W1 ¥R & - A & w1 SR e - wd war § Rrafsar a wr e
TRR Bt SMaRaHar A HFRIS JRAN B BEl FIA H ST 39T @, 591 IRaT 21 g, TR Fon @R 91 USTa] @Y - A a9 ug] iR THa § T 3aR? G B HIFG SR
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T BT HTAI-YW TSI g3 §9iT, 99 I8 Swoarrd gl R sufeng 78 % i@ de-yen 31 afrur ger # 3% wghraa frah, afes 9 sivig-RvkR gan, 3w 9t arfermn 1,
I G I I A: YEpied garel gl fHon |, gadt IR aH-a9 TR ag-a NN A1 R H O 915 IHS a9 S U B 71 3RIY 77 & 9%
T 8T 3| 37 Hiwd-aY A IWP AA-HR B 19 I3 F oY AR 541, 3eqy A 39 ged & Wt gugdt & & 1 feam ara-ziik o O &1 M@ - 8, geu
P HUR AR ARKTSS T HTA FHUR| U3 B avE STBT Ue R AR THFTGR 3@T § T 81 O 1 a5 W a7 @1 gon1, 9 A 39F Ue W fawrg 9t giyon 351
g A aravasar 3@ 2, frg Sue Awer 38 @ i w fawra wra A 9t

UL TR B UGHR T IR T U BT SR TSy

URH: o9 3BT ST e W & <ft a9 Suet o = He 7 A
1. §TH A IS TeT

2. Jgfoa ot



3. oid &t
4, Gig-@iq

Correct Answer :-

1) o

- Qi9-9iq

25) AETA TN ¢, TAE G4 &1 T A TR &1 Y St 2, GO & W9 1 S1el1 o | 1 9971 91 [e1a? 9 1 9164 § - TR IR U1 T AIE? AT T RN TR I A2
SIS AIE Gt TR AT, W A | &1, &1, Rraren, frarem) wam @, 1 e A & W@ @) s, gai S 9eEi, Sie-ud, WUl - $© 7 ge g I 7 - 36t
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IR TR B UgHR -1 T T U= HT IaR T3¢

U= | P w1 B! (ST, 9ail &) ey, Sle-ud, ux-ueh [ o 7 9d ster
1. RTIH & forg

2. TR AP T

3. T[T Xid A & g

4. y@ e & forg
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. 3 fem & forg

26) N TH TTA &, TATE G4 ¢ | TP | IR 1 Y Bl 2, GO & WITH 0 S1el1 3| T I91 a1 a2 89 1 9164 § - T IR U1 T AIFE? U1 T RN TR I A2
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IR B} AraRaHd A ARG gREA BT el B A ST6 YT 7, a1 ITFANRIfHY, IR FH TR AT USSR - Vg 79 UL AR T17d & 7 SicR? WG B WG =17
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A FT HIAI-YW Wl X g3, 9 Yg Ivaivid g Rt gafere 7Y i o Ye-ymn &Y wffren JeM & 39 wghrad fekh, afer ag sve-fukR gon, 3wt ot arferm |,
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| TEIAIhUBTSIOTH

T

2.

UFALIAIAYTH

3.

AFIIGIIH

4. -

Correct Answer :-

UFALIAIAYTH



Yol afScar srenfafiser geaed Agdac’ Faad -

HAGATICG: tiaum-ﬁqlqaﬂoﬂ]q |

AEY: APATHT IASTEATTHIAAT. |l

JUIYARR: T T FAATAAT: |
TSl g8l &l 919 gAaeifola# |

23)

HETAATAT-ATCHET HART: Hed TANT FHEH: Hafa -

1

AT o

4.

Correct Answer :-



eellenl afScar srefafdsera Teaed AGHc’ Faad -

ITASTFATTRISC AT TS AHERIT: |
dclsfaRfgd sfcFcar fAsaTaTeAsstad |

7 HAd Wer=al faeard &Y qoiid, |
gdl e Hiaref &d: Jooar faguern: |
ddisfel: §¢ efoFcar fASTAT T A=AIseTad -
1. ‘
sifed

25) .
Yeliehl afScar srenfAfisera geaed AGHc’ FaId -

HAGATICTEG: Lj\amw‘iqldaﬂﬂaq |

AEY: ABAHT TATSTEITTATAA |l

=

qUIYARR: TId, Tdd EAlA e |
dcaTST g8 EEA 99 gaaenfoias |

“gEaur” sfd oy [dugarea#d 37T -

gF ger
1. ©

AR qe

2



gAT ger
3.

JaEd dYr1
4, ©

CERI I
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addazy




uf=ee gfdcar ueaEg ‘grs\d;cdi oA -

£g: Uld: UAdIgehel UehdH TIHAUIUIH AT AL GodH, | ded IHEATH

dofAeEer #mgalor ®med  uRaw smfla 1 srefoRdeEd

UIAATCTHGIGITAHANHA ~ dclFAE  AORAsIGAsT T
ifaIRoT: A fdegr:, UHaRT:, UfEn #AdR:, JeIdn: 3eaeIad:,
YAE: CAMIRURT HE  VSalGT0Ad, HAGIE HACA: A |

faeTa-wear T FHAIE AT 39 3EIT | U5d AAHER: ST TF
AT | T TaTolfel ATl T IR 38 | 3GATANT
qeoar faefdaAriica | fafdurer dhgAET greurer Fgosia ggfedy
wuﬁmﬁ g FARUOT ofFlfed T | THMOT ARV HUSUET
Mo, fAATdTed | dgfiaey cgawar iU gefaqom metad |
HAEeed: #Ade: HEA Adl: T AL | JARAR Hooldl: UTREW
HAfAGerd: T TH IEAH IHoiShdded: | UdTEH §HI HHAG:
TUEAfAeAgled: R Useufa#dslgde  §e - iRfaife: g
FHACAA  FUCA: | dal  HfdAchel  dledd  FEHEIAECIRT ¥
FEIAATARAHAI | Udceleay A Al JOiSoIdRACl

THIGRT I GIATUT G HETHT G ASEHicI-HgIag: SUMderd, ae T &
HEAR-FQIT: | Faal vUd Tegufdagledsl gida: eeg: 3reefadm qery
dE 9 UUEATCAAGGIET Ul FHdl | Iededd HEUNHRIGT:
HTAFrCATIATS, | UdaelodiH UG AU 3TAT: 39T+ |
AR fASClead  Felauleadd O T ATAIAgET:  Hedee:
ydaa & | #d #Hed UeeufdAgicy: HeRHAgIeaed agaltddier: o

HTeTecadH | FEAT GT FTAEAIONAT SATar #HA SAlaat |

TAY & & AT 3 ?



SdR:

3.

4.

Correct Answer :-

27)

uTae gfecdr el ‘gegagcdi HqI -

$heel AT Sfidel eMfed, TATUE, @4 #ad 3fd sToled | dgdf d
AAAS gogA 3RUT Ufd Ieofed | A TH A, O dRTA TR
AT TEIT T Teh: §G: | d FalT: Flehar AW A uiedded: | dd: g€l
gefd “Hadl YeRETHATdedH 376 Icla Hfa” sfd

d 3RUF d ARAA sifeasy ged  geofed a8 Sligad anfed Tara= gasa
sTold:” 3fd | “dedl #afdd 391d a1, 38T 3c d ds: alfdeh: T
gefd T 3fd @ ARA: 3fged | @ dR Tesled 35 HiRged ama= sifea
| TFT AT 3T FA U YScdod: | el 3ad HH B AGIdRUT,
fd>aetd 318 AUTH | ded HAdeUdedN a1, FeadTia | 373 #ds] dodik
7 Reaaf@ | vd= Fedser: & dl: | Jd: EFollda Tahrd g
3ffeTded: Siidel eI 3eoled |

gashr: Sfiae fohe] sTafed?



Aaeg ger: 3fEg -

ETEIR
)

1
Tog el
2.

SEATh:

3

FEA:
e |

4.

Correct Answer :-
SEATHI:

29) .
eallehl Ufecar srenfaféseea yeasy [EHCH FIId -

HATAIFATIIRASE AT A IeHERE: |
edcrsfaigd efeFear fAsmaTRIAlseTad |

o P TGRS [Aa™ TAT| Iordc |
gal cmEd: diarf gd: Tearfageer: i

3T Yoo AT U9 Bd: -
ﬁ?gar:
1.
, GRITE:
3 TalsiT o
arfer:

4.
Correct Answer :-



IS IfScdm 9oy YGHCR JIId -

e JaR: Sl Afed, FAE, FE@>d #aq 5fd Tofed | ded d
AfAAS gocA 3RT Ufd  Iesfed | ALY TN A, df AR TR
AP TEI T T FG: | O FA: Alpar I N Udded: | dd: gar
Jefd “Hadl YeRETHATdH, 3€ Jclam HUfA” 3fd|

d 3RUA T AfAA sifeasy yed  geafed “ad Sligat enfed qarr qusa
seor:” 3fd | “dedf #afde mrd a1, g el J gg: Alfde: Uq
aefd T 3fd @ AR 3fged | I AR Teofed gg: [Raed T sifea
| TET §AIT AT AR TR gseded: | dsT 3Fd AH S AR,
fAdsa=id 318 FUMA | dcdR e TdcdR 7 Reaaf@ | 377 sfae] dedi
A Reaaf@ | Tdd Fodser: d I1dn: | dd: TEellad T q@a
3FefeTded: Siidel Ahed#H JeToled |

M’ A h: Ycdd:?

odq

1 -

Topic:- HINDI (HIN)

1) Yeaie frdt #) 2feT auT SHeN, IS ST 3R SreaTSal ®1 g
SR G T Hy feaeT @ -

1. AT 3R fa=T

2. Aiewt

3. gsad

4, glgara

Correct Answer :-

. AT SR fo=



2) ‘qRford ) & T fohaes gRT IRE ey g2
1. TS AR

2. e = ok

3. XAy ATt

4, g 9@

Correct Answer :-

. dey @it

3) TP € P&l § IS BT Yk OG- BT ¢ R B Y5 G- Bl ¢ ol 98 Rrgia 8 -
1. 999 31 Rigia

2. 3UTd U4 S &1 Rigia

3. Yafdae faftear o1 Rigia

4. SAFRON Tg ¥ &1 Rigia

Correct Answer :-

. Jafde faftrar &1 Rigia

4) Prafay & M T G B GE P RET A A SR SR wea €
1. T AR

2. 3 IR

3. Sae IoReR

4, T IR

Correct Answer :-

.« AP IR

5) fRr&or &Y gyTaTel T 9 TR E -
1. SRIad It
2. Pad Ab-AS

3. $ad UIGIYISH
4. Had AAREA

Correct Answer :-

. SWRIad gt

6) fRreror faftrat &1 wahT ®ea aaa g=i @ fp1 a1al &1 ARy @ A e 2
1. I qoft

2. Had HI&S

3. %aq Ffear

4, Had B

Correct Answer :-

. IRIad it

7) Fduyw fpy fagm 3 uids o #) 7 @ifgw &1 <waof g w1 U



1. SITAGEY Igdal
2. FEHHRIEU AT

3. S

4. g HipARI
Correct Answer :-

. SRR

8) fr yifeardt #fa 1 3u=ma gur SUITT B2
1. TAYR YT

2. BERATY SFETA

3. Rrgwia g

4, B

Correct Answer :-

9) e A fore yeR ot SrgfSat a1t 8 -
1. SR gt

2. 9 aaH!

3. e ATed el

4. bad form g

Correct Answer :-

. SWRIE gt

10) faemer & v & U 1 a1 & forg fera o = fo YR &1 Ut | Sie?
1. Pt U

2. HATGTTd U

3. Rreprad u

4. AT O

Correct Answer :-

. AT

11) 399 q - faivar st Aes 182
1. &0 e H e 3R Teg € UE WA B B
2. & e B v U glaT |

3. XS e T I Bt SaRaHa Tol st

4. X e W Tt 1T e e Bl

Correct Answer :-

. & ATed # @i 3R Usg § vgE weA g B
12) 3=} UTSUYETP &b YUT G § -

1. HETEDAT

2. B T IR S el



3. UT9T 7 faa g
4. U UTGsHH SafRYd & A TUEld BT
Correct Answer :-

. UTST T TS BT

13) «3adft fpw arf @uHTm) P Al 22
1. afye g

2. ISR

3. UgTet fedft

4, gaf fgdh

Correct Answer :-

- gl

14) wfger axfdaevor R e Fray e Joft & smwm
1. onffer 78, 9 &g

2. SIS fheit & e 8t

3. ITIfoTe T8, § awifid

4. AT ¥ T

Correct Answer :-
. IR e, ¥ I
15) fpw Joft F Fray MR 774 SR AfS® RiTA A g g &2
1. RO ey
2. fazaoTere ey
3. qUHTHS ey
4, faaRTEr® ey

Correct Answer :-

16) 3RV WRIGw ety fPru ToR S T A I gaT &2
1. FrAtadE U

2. IR A

3. B DI T

4. fasmo=

Correct Answer :-

. HEEdE 1=

17) 59 5 & ©: fawH TR & TYH TR TROT T qUT 3T S) =01 Sewrent $ B4 B
1.¢SH B

2. BT

3. ORI B

4. A BTG



Correct Answer :-
e YT I

18) YRdg & AfRId § BGabsU 31T awl 4t g3 <f 1 3 sfoery uRie srfieie & =1at ok =M & Wikt ¥4 TiuTerde & 4 41 3 Wil ;R AR
STYAT IQ gUR A1 F Srgardt &1 gfe spfidie 7 3ifieh Sufawrarg & wifud w3 # Ggrar ugard & af yRdg A 39 Sufazmarg ¥ e aaie
S R 35 3 3ol BN et & spfteie & ol w1 Uaida $39 W)W afe T 3R SR ST TR AT A gud 3R 99 e d] W &
1Y THIPHd g1 BT &HaT| Srafay IT0 B3 A1

Iwfe U= P uga 1Y AT T Uy 7 I fafa:
e A g 1Y Ug <srafdRty & T SRR 7

1. faRieft o7

2. IR

3. ST

4, JUTARIaG

Correct Answer :-

« faRieht o7

19) YRAg & AfRTa B Bapsu 3R awit wdt g5 I 3 sfoery wRis: erfidie & 9=t ok H1=ft & Wik ¥ TiuTerde & g7 31 3 SRR
ST = SAR 1Y F ATt 41 afe enfiie 7 3iioh Iuf~aware & wifid w4 & Teraar ugamd! Bt df yRd= 7 39 Sufazmae ¥ g auie
T R 1 3 3u BN et ¥ snfiei ¥ sl o1 Ui $d W1 afe T 3R 30 TSI TWPTR o1 al gud 3R 3Q HHa? oa1 &
Y THIPHd B DI &TaT| Srafaiy IT0 B3 A1

Iuged U i Uga i faT 7T Uy $1 I fafae:
TR & AR 3fftEE A H1H-91 HPHod fhar ur

1. ST THR

2. 3 erIfeRiy A

3. 37 HfHKIA H Bhapgud Ul

4. JUMITETE &) M B1H A Feraar

Correct Answer :-

. IufaRraTe B RG89 H Tgrrdl

20) YRAg & AfRTa B Bapsu 3R Tl 1t g5 I 3 sfoery wRis: srfidie & 9=t ok =it & Wik ¥ TiiuTerde & g7 41 3 SRR
STYAT = SR 1Y F ATt 41 g enfiie 7 3iioh Suf~aware & wifid $4 & Teraar ugamr! Bt af yRd A 39 Sufazmae ¥ g duie
T R B 3 U BN et ¥ snfiei & ol o1 Ui $d W1 afe T 3R 370 ST WWPTR o1 al gud 3R 30 Hadr oa1 &
TTY THIPHd T DI &TaT| Safaiy IT8 B3 A1

Iuged uRede Y Tgs T faw T v BT I fifde:

TR & SRR HRA A frad fivs daie wfia R a1z
1. FFA &

2. BaH U 3R A&l &

3. ST THR B

4, IUARIGTE &

Correct Answer :-

. JufawEE &

21) YRag & Al ¥ Bapsu- 31T Aw 4t g3 <f 1 3 sfoery uiig snfiee & et 3R =N & Wik w9 TiuTere & 77 41 3 Sl W o
STTAT = SR 1Y F ATt 41 g enfiie 7 3iioh Suf~aware &) wi1fid 34 # Teraer ugamr! &t df yRdg A 39 Sufazmae ¥ g daie
S R B 3 3u B et ¥ snfieie & sl o1 Ui $vd W1 afe T 3R SHH ST WWPTR AT a1 gud 3R 3@ B wa1 &
TTY THIPHd § BT &I Safaiy IT8 B3 A1

Iuged uR=¢ i Uga i faT 7T Uy $1 I ffEe:



W eI o1 Ifera 2fide difdrg
1. YR, &I oita- oy

2. URAg &1 Hidd

3. YR 3R YR,

4. THR 3R YRAG

Correct Answer :-

« YRdg FTHiId

22) YR & AfRia d BapsU R 7wl 48 g5 91 3 3w uRis srfide & dxrer ok w12t & Ui g9 MuTaae S g7 41 3 S R e
STYAT T §HR A1 & gt A1 afe snfieie A shieht Jufazmare &1 wifid 3= # Jeradr ugardt i af uRag 3 39 JufaREre ¥ g daie
S R B 3 3o B et & spfteie & ol w1 Uaida $3d W) afe T 3R 37H ST TR o1 dl gud 3R 98 BHd) w1 &
Y USIPHd 811 BT &HdT | afaAy ITH B8 |

Iwfw U= 31 uga Y T T vy 1 I fifa:
URAg & cafd 3 $H-3 & Rdtwart agf aars 7€ §2
1. MUTeEE & g

2. I HahS M AT Y WL Y

3. 3rieE & IR &

4. JUFIRATE & fIvg d9TRE S IR ST

Correct Answer :-

. Jhahs IR ANV WYY

23) g Y 6T GRT T 1§ -8 g7 & 17 = &1 & Frdel &1 wareis g2 € @ oafea o1 warshis &= &1 sus 21!
1. foos e

2. O TG fgadt

3. S Yo

4. S AR

Correct Answer :-

. oIl TR fgadt

24) TP 3 IS 0 § e & ¥ F-31 faiwand g+t enfew?
1. AP, TG 3R Had

2. Qo geeadn 3R Ryar

3. 3(UTd, TATHB AT 3R IR

4. HTYT, SATHOT 3R BIRAT

Correct Answer :-

« ST, Aged 3R Ry

25) TRaT gerfter IR ERaaRe § 91d $1vs €, 378 Fa § A earTdi &
1. ffepmamUs

2. APIPIUS

3. GBS

4. UGBTI

Correct Answer :-

« X[qUIGYHIUS



26) A & 7 vfRTa) § $19-97 SR 22
g ve A, g g o |

P g wem & faftramm

ST Ied FHd 39 HRT |

g et awaras &l 11

1. ATeT SEABR

2. fauTaT SR

3. 44 PR

4, IUHT TPR

Correct Answer :-

o fayTeT SR

27) wife® siftraafed &1 S T8 & -
1. afcmerd

2. T

3. geAT Ui

4. 9eHd AT

Correct Answer :-

. TG

28) 3fuaTR® U= & <w=ien: feran Y siferamd 82
1. 3THT HA & g

2. Ggeadl feam & forg

3. e & ferg

4, STEY AoTae & forg

Correct Answer :-

. G F e

29) YTYT fAHTH BT gERTIUT -
L

2. Qe

3. Sie

4. fergm

Correct Answer :-

30) HTYT fR1&0T § HedichT Pt STIRIH T Ul 8:
1. IWad qaft

2. %ad BT B SHTAT Bl T A

3. Had B B & IR FHSINGT Bl -

4, Sad RI&0 UfhaT B IHd g YUTE a9 |



Correct Answer :-

« Wi quft

31) YT R1&197 & Fierare & Risid gRT-
1. YT TR B HH G5 @A 3

2. 4T R  SHfRRAT St B

3. 4TS TR § BT gt 31

4. U1 e & 31 TH T B

Correct Answer :-
o U R & B8 THI @ B
32) Yf$UT IgERUI§ -
1. SN AP 76T
2. TG4 AT
3. T gt
4, 9T At

Correct Answer :-
. 8o T
33) HYTHR YHEE BT o 370 A {59 Tia & gam ur
1. §RY
PANINEI
3. HGI
4, AfEAQR

Correct Answer :-

34) WHUTGH ! foRY 1A 918 TEIHVT U BT T ST FT gl 82
1. yiferd &1 wfiarg e

2. IW G

3. 3iE™ &M

4. fasmo= &

Correct Answer :-

- Yifcrat &1 vfrarg S

35) = UTHT BT TN & F3d 82
1. SR aft

2. HId DR

3. Had faE®HR

4, HId TABI

Correct Answer :-

. IRIad it



36) FPrafifla § A a5  Td® @01 § HHY: TP AIULTS HITULTS 7,8} a7, 3R Q) T 8 § qUT 98 WaIg vl &1 g 8-
1. HEIDT B<

2. HoHTRoR g

3. Rrafoht g

4, T B8

Correct Answer :-

. AT B4

37) fm dfdeay & ®19 a1 srow ur 2
gdg 3iTdT,

3 g P P HdT USarar

Y TR ST |

e e g e § v,

T IGT AP eqT ¢,

TR TR ), Y@ e &,
g Bt [RIvT gl Y trarar 1
1. G

2. SIS IO

3. 491G U

4. A T

Correct Answer :-

38) Fg ufREAi A S ATUIR?

Ho fHB TR Y 91 Fea ae= 9 I gd T
g A gg ot 8 | we fawa e g 1

1. gTRA 700

2. 3T U7

3. TG 701

4. TR T

Correct Answer :-

39) U & A PH-A1 SR 03 FT ISR 61 82
1. AR

2. GRUA

3. Teda

4. oA

Correct Answer :-

40) 49 ¥ A HI-TT FEFIPR A5 B SMT<ia- & 781 FST UT?



1. @ ot

2. 6% F1ed

3. 3HRBI

4. STYRIBR UG
Correct Answer :-

. SOYH YIS

41) | & A B AT YT BT dd TE B2
1. ST SRTITe Bl 81
2. YT @@ gl |
3. YTV U SATRIT ]|

4. YT Tl TeHa Bl g1

Correct Answer :-

« TSI SATATTS Bt B

42) Fra & A g geTay @1 o g FUA TN R S BT R?
1. 3T @I

2. DRI TGS &I

3. B HeTl

4, P18 HI T IS

Correct Answer :-

« BRI A T

43) 49 & @ P AewEY 1 U5 T8 82
1. ARTHTH

2. U Y&y

3. {00

4. IAF

Correct Answer :-

. TUS U§Y

44) Fm & 9 M@ siftrafe s 3-
1. IR qaft

2. H9d g

3. Had T

4, HA HTIOT

Correct Answer :-

« Wi quft

45) a0 o B 1 919, fry a1 &1 SereRur gl @2
1. 98 U 37 I & ST - ST |

2. g A8 R I B Sar Wi Tl



3. H A § b 98 Pel gan T g
4. OIS I8 SITRT q9 H T SIe|

Correct Answer :-

. A e R A9 e Sar @™ Tl

46) & A B | UiFPIei H ygd W1 A fobg 1 B Frfor s 12
1. ARG

P I
3.3EM

4. T THH &9

Correct Answer :-

47) ¥ A -3 FeyeR aftea & Tiepfae FeaueRr & w0 & @nfa e §2
1. ST S Yo

2. e goRY T fgadt

3. YqE S

4. BRRIH TS

Correct Answer :-

- e BeIRY vrTG fgadt

48) fFofafea R A AW o< @2

B WU 3T ST, 1 g9 a! Gifere | 2w | gAuR @Y, g v Pifre i
AR g IR, 50 HerER) 97 | sEraRt 4HRew, dRed urt = |
1. $sAB<

2. fawmuret o

3. Tl &

4. A TS

Correct Answer :-

. Mfawss<

49) YW B T 3P TS & ST GH BT UgATL |
1. dar - Afcie ggwg Sl

2. Y - g TR

3. AT - e

4, femaett - I9EM

Correct Answer :-

. T - At Hewme g

50) fAfiAd fAepeul d ¥ sareor A 92 Rigor SEwg aagy 2

1. ST aft
2. Had A



3. Had HIYA
4, Had I TR

Correct Answer :-
. Iudaa ot
51) et &/ S 91 T S 18 22
1. Bl
2. g
3. RE
4, TTGI &1 Saar
Correct Answer :-
- TTR! &1 dadt
52) o=t Tmreit ® @ B Wt WRawg shw= Bt g @2
1. 9 aT
2. Um gt
3. TH WIR
4, T TTYR

Correct Answer :-

. T TR

53) “He SUH BE I8 Bll ¢, OIDT STYR et AIdge ¥ W 1> - 98 frasr sy 82
1. JRTATe

2. 3 YHE Yad

3. U<

4. 9%

Correct Answer :-

54) ST Sydt gRT FARTT <A faemera & Irexur garsu-
1. FTfaRia faemem

2. 5 foemera

3. g faeer

4. Tl fammera

Correct Answer :-

. yrfasfta fagmer

55) STAPWI Yg ot & gRT Fifa a@ter fra A A R @2
1. TS ey

2. qUiTES Fay

3. foarreTs e

4, dfera ey



Correct Answer :-

. qUATETD Y

56) WgTed! aul & Hroq # g # A F19-A vt waifires wgad gu d?
1. U 3R s1Ea

2. 9 IR &

3. 7lfq SR frar

4. UPHfa R AT

Correct Answer :-

. P IR e

57) WIfdare 1o & el # fre & @ 19-a1 By g a8 82

1. TTforaret e = <hwor &1 wfeRty fa g1

2. yrTfoaTe Hfagt 3 I A & TS bt ST Sidaret § wiH fear g1
3. TfATel Sfadt ¥ UHfa & HHoe T BT =0T St sfdarsit & far g1
4. FTfraTe} S faat ¥ wrifores T &1 femor fasam 31

Correct Answer :-

. TfaaTel B3t = Ui & B = BT R o wiaared # fhar
58) f3dt 91 uRis SR SHiear ST SrTelt A9 Fa1 412

1. AT SRR

2. XSSTel Oy

3. A YSRt

4. IuTed! fEm

Correct Answer :-

o OGS 9y

59) Wel faey gfre-

& TG BE AT APl § O WG a1 &b TR R 98 TUh U & A1 |
1. 7Y LTS

2. T W7o

3. U TS

4. ITSTUT

Correct Answer :-

60) HE! fawey qany -

_ I F SR w0 § vl W ofR O s yd Weu 7
1. g dd

2. HedT dd

3. afa

4. §Gd@
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